Algebraic Representations

Hannah's bank balance is $150.  Hannah deposits $12 per week.

Woodson is selling chocolate bars to raise money for his soccer team.  

He begins with 36 bars to sell and sells four bars per day.

[image: image1.png]A rocket is fired upward from the
ground. The equation below shows the
relationship between /i, the height of the
rocket above the ground in metres, and 1,
the time in seconds.
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Which of the following is the height of
the rocket after 4 seconds?

a 3sm
b 44m
160 m

d 240m




[image: image2.png]Stephen’s earnings are calculated
according to the formula

Earnings = 7t + 4
20

where ¢ is the number of hours Stephen
works and d is the dollar value of the
clothes he sells in the week.

One week, Stephen works for 15 h and
sells $980 worth of clothes. How much
does he earn?

a  $5425
b $105
¢ $154

d  $176




[image: image3.png]The formula

What is the approximate
boiling point of water at an
altitude of 5951 m?
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gives waters boiling point, B,
in degrees Celsius at an
altitude of / metres.

38°C
62°C
96 °C
156 °C
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